ghipsmall

Chipsmall Limited consists of a professional team with an average of over 10 year of expertise in the distribution
of electronic components. Based in Hongkong, we have already established firm and mutual-benefit business
relationships with customers from,Europe,America and south Asia,supplying obsolete and hard-to-find components
to meet their specific needs.

With the principle of “Quality Parts,Customers Priority,Honest Operation,and Considerate Service”,our business
mainly focus on the distribution of electronic components. Line cards we deal with include
Microchip,ALPS,ROHM, Xilinx,Pulse,ON,Everlight and Freescale. Main products comprise
IC,Modules,Potentiometer,IC Socket,Relay,Connector.Our parts cover such applications as commercial,industrial,
and automotives areas.

We are looking forward to setting up business relationship with you and hope to provide you with the best service
and solution. Let us make a better world for our industry!

Contact us

Tel: +86-755-8981 8866 Fax: +86-755-8427 6832
Email & Skype: info@chipsmall.com Web: www.chipsmall.com
Address: A1208, Overseas Decoration Building, #122 Zhenhua RD., Futian, Shenzhen, China

iy [0



Revision Control Record
LOCKWASHER Rev. Description of Change ECNNo.| Date
WASHER D | NOTES & EW 0s18s | 52003
® 17-11 172 NPSM E | GAP GOLOR TO RED 03257 | 7M603
® CONDUIT LOCKNUT v TTraRETTT
CAP. RED (POINTS TOWARD FLANGE>
INSULATOR #1560 [839.621
HEX NUT
STUD — 3/8-16 UNC
STy L
AR LN | A —
1125 [28.571
|
Sred —
#1312 [#33.32) 1135[28.831 0,570 [14.481
KK 01562 [839.671
® NOTES:
(@1 ALL STEEL PARTS PLATED
TYPICAL PANEL 2. ALL DIMENSIONS ARE REFERENCE ONLY
cuTouT 3, MOUNTING THREADS: 1°-11 1/2 NPSM MOUNTING TORQUE:
® 10,8-135 Nm (8-10 FT LBS) NOT TO EXCEED 135 Nm C10FT LBS>
1130 [2828] 4, STUD 3/8-16 — TIGHTENING TORQUE: 81-10.8 Nm (6-8 FT LBS)
1125 L 28557 5. PARTS SUPPLIED IN BAG.
m s b secatyrtod, o foowny | EROPRETARLISRITIN. i Ergerrg Ot o4 [IRRrIS—— Cole Hersee Co.
i DachmalDmanaons. o 005" o e sy Y WA & e chactviate mateg o sutysor 20 Otd Colony Avs., South Boston, MA, 02127
* Angular Dimensions +:1.0 Deg. eprves witten coraart of s suthorizac reprosentatve of Cote Phni 817-268-2100 Web: www.coleherses.com
T vty ot | DD R eseription:
le g . STUD, JUMPER, POS
oo e | € Pt
[t Bt o
oz |sme e | = ER 4621002 TR
arner [**1:1 g DPs B 8107780 |t SAM [Pg. 1 of 1




Revision Control Record
LDCKVASHER Rev. Description of Change ECN No. Date
@ Y WASHER C | notEs & viEW D3188 | 529003
clugéhllT/eLnNciiTn D | oiwensions & vew i Al
(POINTS TOWARD FLANGE>
CAP, BLACK
INSULATOR 81,560 [839.62]
HEX NUT
STUD 3/8-16 UNC
GAT,
& | !%\ Z\
- | an
| 1125 128,571 \l&'}
STy
®
#1312 [#33.32] 1135[28.831 0570 £14.48)
kk #1562 [#39.67]
®© NOTES:
©1 ALL STEEL PARTS PLATED
TYPICAL PANEL 2. ALL DIMENSIONS ARE REFERENCE ONLY
cuTout 3. MOUNTING THREADS: 17-11 1/2 NPSM MOUNTING TORQUE:
10.8-13.5 Nm (8-10 FT LBS> NOT TO EXCEED 135 Nm C10FT LBS)
1138 [587 4, STUD 3/8-16 - TIGHTENING TORQUE: 8.1-10.8 Nm (6-8 FT LBS)
11 857

S. PARTS SUPPLIED IN BAG.

Unless otherwise spectically noted, the following
e

‘PROPRITARY IMFORMTIOR _This Enghenting Drwing,
rformadon coained nacan, € propreary t oo Harseo
oovpany aniaay i bo @aclosd 1o, of Iy oher

‘Soacla Chancteiaticn,

xpress wrtten consent of an wuhor2ed epreewTEAIVY of Cole
Hersee Conpary.

DERIGH CONTROL ks v rasponsibily o the ncvidulusing |

@ ritlcal Charactarstic, relating to Safoty andor

] Zgirean cranctrute iatg t Procees ot
(@)

Cole Hersee Co.

Phni 817.268-2100 Web: www,

20 Oid Colony Ave., South Soston, MA, 02127
.coleherses.com

pessxzien JUMPER STUD, NEG.

e e i
S o e | @ St
e . o

REES or an Aatadal 01 @ Man-Tolsranced Referance 00 NOT SCALE s eesd
Dirashelon, shown ot tlariaation pumoses only. raproduction. dimensions & toherancoe must be met)

UssdOn Scale: . Drawn Date. 1 Responsibie

s [*~1:1 |3~ R S 807/80  [fwent SAM [ Pg.1 of 1

e 46210-03

c

Rev.

D




(L) INSULATOR, BLACK

STUD 3/8-16
BOTH ENDS

1"7-11 1/2 NPSM
CONDUIT LOCKNUT
(POINTS TOWARD FLANGE)

+

¢ 0875 [22.22]

kit

- 2.060
2.090 I:

22.32 -
53.09]

WASHER

LOCKWASHER, 2 PL, NOTE 3

HEX NUT, 2 PL, NOTE S

1,562 [39.69]

Revision Control Record
Rev Description of Change ECN No. Date
H | NOTES 00685 9/13/00
J NOTES & VIEW 03189 5/30/03
K | DIMENSIONS & VIEW 12/23/03 | 12/23/03
L ADDED BLACK 12085 03/16/12

)

S
=

[
i 0.623[15.871
0.570 [14.481] i
2.
3.
—— 1195[30.351] |-t

4,

®s,

©) NOTES

$1.312 [833.32]

o

_|_

oo

N

1.130
1125

-

28.70
28,57

®

TYPICAL PANEL CUTOUT

ALL STEEL PARTS PLATED
ALL DIMENSIONS ARE REFERENCE ONLY
MOUNTING THREADS 1°-11 1/2 NPSM-
MOUNTING TORQUE 10.8-13.5 Nm
(8-10 FT LBS> NOT TO EXCEED
135 Nm (10 FT LBS

STUD 3/8-16 TIGHTENING TORQUE
81-10.8 Nm (6-8 FT LBS

PARTS SUPPLIED IN BAG

Tolerances Unless otherwise specifically noted, the following
are default tolerances;

* 2-place Decimal Dimensions +/-.02"

* 3-place Decimal Dimensions +/-.005"

* Angular Dimensions +/-1.0 Deg.

* Metric: Refer to equi English Di; ion Tol

>>> NOTE: Al tol are Non-Ci fve, <<<

Dimensional Units  All dimensions are expressed in inches
except those shown in brackets (xxx) are expressed in
millimeters

"REF." or an Asterisk (*) = Non-Toleranced Reference
Dimension, shown for clarification purposes only.

PROPRIETARY INFORMATION  This Engineering Drawing, and the
information contained herein, is proprietary to Cole Hersee
Company and may not be disclosed, re-produced, or in any other
way transferred or communicated to any other party without the
express written consent of an authorized representative of Cole
Hersee Company.

DESIGN CONTROL  Htis the responsibility of the individual using /
referencing this drawing to assure that the noted design revision
level agrees with the revision level of the Controlied Document
(Master Drawing). This is a NON-CONTROLLED DOCUMENT unless
otherwise specifically noted.

DO NOT SCALE - Dimensional variation may occur during printing /
reproduction,

Speciat Characteristics:

Critical Characteristic, relating to Safety and/or
Regulatory Compliance

&

Significant Cl istic relating to Pr Control

.

Cole Hersee Co.

20 OId Colony Ave., South Boston, MA, 02127
Phn: 617-268-2100 Web: www.colehersee.com

(SPC)

Key Characteristic relating to Form - Fit - Function as
@ defined by Cole Hersee Company and/or the
Customer
{Note that the identification of any Characteristics as being
"Special” does not alter the requirement that ALL specificed
dimensions & tolerances must be met.)

Pesemition: EEED THRU STUD

Used On
or Ref.:

Scale: 1 :1

Date

prawn RG 8/8/80
y:

Drawn:

Responsible NJA Pg.1 of 1

Engineer:

Drawing /
Part No.:

46211-01

Current Rev.

L




(SEE NOTE 5

STUD 3/8-16
BOTH ENDS

(POINTS TOWARD FLANGE>

INSULATOR, RED

WASHER

1°-11 1/2 NPSM
" CONDUIT LOCKNUT

3]

f

@ 0875 [22.22] f

/LDCKVASHER 2 PL, NOTE S

HEX NUT, 2 PL, NOTE S

[39.69]

i O

0570 [14.47] TYP

NS

0.625(15.871]

® notes:

Revision Control Record
Rev. Description of Change ECN No. | Date
A NEW PART 02609 12/23/02
B NOTES & VIEW 03188 /3003
[} DIMENSIONS & VIEW 03733 12124/03
21,312 [933.32]
|
1125 [ 28.57]
1130 28.70
@ 1125 L 2857

TYPICAL PANEL CUTOUT

—]

1.195030.35]

—

1, ALL STEEL PARTS PLATED
2. ALL DIMENSIONS ARE REFERENCE ONLY
3. MOUNTING THREADS 1°-11 1/2 NPSM-
MOUNTING TORQUE 10.8-13.5 Nm
(8-10 FT LBS) NOT TO EXCEED
13.5 Nm <10 FT LBS)
4. STUD 3/8-16 TIGHTENING TORQUE
8.1-10.8 Nm <6-8 FT LBS)
S. ALL HARDWARE SUPPLIED IN BAG

Undose athorrive spechically noted, e folneng
oances;

Docimai Dimeraions # 02°

'ACPRIETARY NFORMATION . _ s Engineerirg Drawing, and the Spaciy/
Informatcn coraed harin, 8 propristay fo Coto Harese

Cole Hersee Co.

+ 1300 Dun Dlertors 008" S comn _‘M:M P raste & m 20 044 Golony Ave., South Boston, MA, 02127

e T vt o I | [ ——— Phas $17:263-2100 Webt www.coleherses.com
%> NOTE: AN wierances ero Hor-Cumulatve, <<< BEEON GG, s tu it i Ladl Description:

D brbreaon o v sepmasedn e ol Sonced oot | D) ety con e Conpry ntn 0 FEED THRU STUD

miimeters otherwise spsolfionlty noted.

e = on-Toloansnd Ao "

B e St apeter Peanen PR | s & oarness minton ety raving! 46211-R m&-m

Usad On Scale . Orawn Date Reaponaitie -

orRet: | 1:1 By SA lbnwn' 12/17/02 | Enginesr; __orvanm | Pg.1 of 1




Revision Control Record

Rev. Description of Change ECN No. Date
AUTOCAD, LOGO 05424 10/26/05
¢1.565
1555 F | NOTE 2 CHANGE 06300 | 9/07/06
Q)%%%%O ADDED DIM 11233 7120111
1.315
1300 COLE HERSEE

/

LOGO NOTE 3
(APPROX 0.30D1AD R0.200
0185
(&

51020 \
1.015
0.773 0530 &%
2 0.040 90,768 '
0,050 7
1133

? 1128 ™

- _ 20863
225 - - 0.858
215 MEASURE (NOTE 2> 0115
¢ @ r 0125 @

N
N

- 5.520 -
—- 5500 -
0.080

™ 0.060"YP g.080

0.205

SQ RED

0.195 .
N o * \A@ NOTES: | i
-~ . 1. MATERIAL: COASTAL DC-834, PVC

_(_;_\14_3 0250 %__q_l E g. EPEUE;AMETER 60-75 SHORE A, PER ASTM SPEC.

= 3. FOR LOGO PROPORTIONS SEE COLE HERSEE

DRAWING TA 139
LETTERING AND SYMBOL
RAISED 0.010/0.015, TYP

R0.330

97846-B

Cole Hersee Co.

PROPRIETARY INFORMATION  This Engineering Drawing, and the
information contalned herein, is proprietary to Cole Hersee

Tolerances Unless otherwise specifically noted, the following Special Characteristics:

are defauit telerances;

* 2-place Decimal Dimensions +/-.02"

* 3-place Decimal Dimensions +/-.005"

* Angufar Dimensions +/-1.0 Deg.

* Metric: Refer to equi English Dii ion Tol
»>>> NOTE: All tolerances are Non-Cumulative. <<<

Dimensional Units  All dimensions are expressed in inches
except those shown in brackets (xxx) are expressed in
millimeters

"REF." or an Asterisk {*) = Non-Toleranced Reference

Dimension, shown for clarification purposes only.

Company and may not be disclosed, re-produced, or in any other
way transferred or communicated to any other party without the
express written consent of an authorized representative of Cole
Hersee Company.

DESIGN CONTROL  Itis the responsibility of the Individual using /
referencing this drawing to assure that the noted design revision
level agrees with the revision level of the Controlled Document
{Master Drawing). This [s a NON-CONTROLLED DOCUMENT unless
otherwise specifically noted.

DO NOT SCALE - Dimensional variation may occur during printing /
reproduction.

Critical Characteristic, relating to Safety and/or
Regulatory Compliance

Significant Characteristic relating to Process Control
(8PC)

Control Dimension relating to Form - Fit ~ Function
as defined by Cole Hersee Company and/or the
Customer
(Note that the identification of any Characteristics as being
"Special” does not alter the requirement that ALL specificed

e

20 Old Colony Ave., South Boston, MA, 02127
Phn: 617-268-2100 Web: www.colehersee.com

Description:

CAP

UsedOn EX18810A-10 Scale: 1 .1
or Ref.: 46210-01 =

Drawn RMT

By:

Date 6/419/80

Drawn:

Responsible
Engineer:

dimensions & tolerances must be met.)
sAM  [Pg.1 of 1

Drawing /
Part No.:

97846-A & B




	Contact us
	46210-02
	46210-03
	46211-01
	46211-R
	97846-A&B

